
NOTES:
1. REFER TO ARCHITECTURAL, MECHANICAL AND ELECTRICAL 

DRAWINGS FOR EXACT NUMBER, SIZE AND LOCATION. PROVIDE 
FRAMES FOR ALL OPENINGS GREATER THAN 10" DIAMETER.

2. PROVIDE RADIUSED CORNERS IN ACCORDANCE WITH AISC.

CENTERLINE OF STEEL
JOIST OR BEAM (TYPICAL)

ANGLE BRACKET
(TYPICAL)

OPENING

CHANNEL HEADERS EACH
SIDE WITH HANGER CLIPS
EACH END

(E) METAL ROOF DECK

1/2" DIA. RODS AT 8" O.C. REMOVE AFTER
EQUIPMENT, ETC. IS INSTALLED

(E) STEEL JOIST OR BEAM

L6x4x3/8 LLH x 4" LONG
(4 REQUIRED PER OPENING).
COORDINATE LOCATIONS TO
ALIGN WITH HIGH FLUTES.

C5x6.7 FRAME

3
TYP.

3
TYP.

C1

SECTION
C1

MAX. (TYP.)
1/2" GAP

PLAN VIEW

9"

3"
3"

3"

NOTE 2
NOTES:
1. EQUIPMENT CONNECTIONS TO SUPPORTING STRUCTURE SHALL 

BE PROVIDED BY THE CONTRACTOR AND IN ACCORDANCE WITH 
MANUFACTURERS SPECIFICATIONS.

SECTION
D1

PLAN VIEW

ROOF PENETRATION, PROVIDE FRAME 
FOR SUPPORT OF ROOF DECK AND 
PROVIDE TEMPORARY INFILL RODS. 
SEE DETAIL x/Sxxx.

C5x6.7 CHANNELS
(TYPICAL AT PERIMETER
OF EQUIPMENT/CURB)

ROOF FRAMING (TYPICAL)

ROOF FRAMING 
(TYPICAL)

L6x4x3/8 (LLH) x 0'-4"
LONG (TYPICAL)

TOP OF CHANNEL TO MATCH
TOP OF STEEL JOIST

CLIP HORIZONTAL LEGS OF HANGER
ANGLES SO VERTICAL LEG FITS
TIGHT AGAINST ROOF FRAMING

FIT TIGHT OR L3x3x1/4 CLIP
ANGLE (CONTRACTOR OPTION)

ROOFTOP
EQUIPMENT / CURB

PROVIDE FRT WOOD BLOCKING 
IN HIGH FLUTES OF DECK AT 
PERIMETER OF UNIT CURB

D1

ANGLE TO JOIST,
TYP.

ANGLE BRACING TO BE
PLACED ON INTERIOR
SIDE OF PLATE WHEREVER
POSSIBLE (TYPICAL)

1/2" MINIMUM PLATE -
AREA OF PLATE TO
EQUAL AREA OF ANGLE

ANGLE BRACE -
SEE ELEVATIONS

TYP.

BEAM BEYOND - SEE PLAN

DUNNAGE BEAM - SEE PLAN

(3) 5/8" DIA. BOLTS

(4) 5/8" DIA. 
BOLTS

L3 1/2x3x3/16x12"

1/2"x5"x12" CAP PLATE

3"x3"x3/8" PLATE TYP.

1/2" DIA. BOLT

LATERAL BRACE - SEE PLAN

PIPE POST - SEE PLAN

(4) 1/2" DIA. BOLTS
(E) METAL DECKINGL4x4x3/8 L4x4x3/8

1/2" DIA. BOLT

(E) BAR JOIST

STIFFENER -
SEE SECTION 3

1/2" DIA. BOLT
(E) BEAM - SEE PLAN

WT - SEE PLAN

L3x3x3/8

1'-3"

2"

3/16 2-12
TYP.

1/2"x5"x12" PLATE

1/4
TYP.

C
LE

A
R

2'
-0

"

L3 1/2x3/16x12"

BEAM BEYOND -
SEE PLAN

(2) 5/8" DIA. BOLTS

GRATING

4"

1'
-9

"
1'

-9
"

1/4"x4" HIGH GALVANIZED
TOE PLATE

GALVANZIED STEEL PIPE
HANDRAIL. VERTICAL POSTS
MUST BE A MINIMUM OF 1 1/4"
NOMINAL DIA. SCH. 80 PIPE
AT 48" O.C. MAXIMUM

3/16

PROVIDE GALVANZIED
STEEL CLOSURE PLUG

L6x4x3/8 x 0'-6" LONG

2"
(E) CONC. SLAB

(E) METAL DECKING

(E) BEAM - SEE PLAN

1/2" WEB STIFFENER

10 7/8"

WT - SEE PLAN

C
LE

A
R

2'
-0

"

DUNNAGE BEAM - SEE PLAN

ANGLE BRACE - SEE PLAN

TYP.

(E) BEAM - SEE PLAN

WT - SEE PLAN1/4

3"x11"x5/16" THICK PLATE WITH
(3) 3/4" DIA. BOLTS

CUT (E) X-BRACING
AT BEAM

(E) 3 1/2" x 3 1/2" x 5/16"
X-BRACING

1/4 2-12

EXISTING TOP CHORD

NEW (2) L1 1/4x1 1/4x3/16

CLIP WEB ANGLE AS 
REQUIRED FOR CLEARANCE

NEW L1 1/4x1 1/4x3/16 
WEB ANGLE

NEW L1 1/4x1 1/4x3/16 
WEB ANGLE

NEW 1/4"x5" PLATE

NOTE:
1. EXTEND ANGLES 12" PAST PANEL POINT.
2. SEE G/S301 FOR SPLICING OF TOP AND 

BOTTOM CHORD REINFORCING IF NEEDED.

1/8 2-12

1/8 2-12
TYP.

1/8 6

AT EACH END OF
ANGLE

1/8 6

AT EACH END OF
PLATE

1/8 2-12

NEW (2) L1 1/4x1 1/4x3/16

1/4"x4"x6" SPLICE PLATE

NEW 1/4"x5" PLATE

(2) 3/4" DIA.x1'-0" AT SPLICE

NOTE: EXTEND ANGLES 12" PAST PANEL POINT

1/8

TYP. ANGLE TO
ANGLE

1/8 6
TYP.

1/8 6

TYP. ROD TO
ANGLE

(E) METAL ROOF DECK

(E) STEEL JOIST OR BEAM

(E) Cx FRAME

5/8 12" O.C.
TYP.

1 1/2" DEEP 20 GA. GALVANIZED 
METAL DECK TO INFILL (E) OPENING. 
FIELD VERIFY EXISTING DECK TYPE 
A, F, OR D AND MATCH TO 
PROPERLY NEST DECK.

9'-0"

7'-0"

NEW (2) L1 1/4x1 1/4x3/16

NEW 1/4"x5" PLATE

NEW L1 1/4x1 1/4x3/16 WEB 
ANGLE TYPICAL OF (6)

NOTE:
SEE DETAIL G/S301 FOR
REINFORCING DETAILS.

BEAM BEYOND - SEE PLAN

DUNNAGE BEAM - SEE PLAN(2) 5/8" DIA. BOLTS

(4) 5/8" DIA. BOLTS

L3 1/2x3x3/16x12"

1/2"x5"x12" CAP PLATE

3"x3"x3/8" PLATE TYP.

1/2" DIA. BOLT

LATERAL BRACE - SEE PLAN

PIPE POST - SEE PLAN

(4) 1/2" DIA. BOLTS
(E) METAL DECKINGL4x4x3/8 L4x4x3/8

1/2" DIA. BOLT

(E) BAR JOIST

STIFFENER -
SEE SECTION 3

1/2" DIA. BOLT
(E) BEAM - SEE PLAN

WT - SEE PLAN

L3x3x3/8

1'-3"

2"
3/16 2-12

TYP.

1/2"x5"x12" 
PLATE

1/4
TYP.

C
LE

A
R

2'
-0

"

Phone:  717-793-3997
York, PA  17403

1071 Edgar Street, Suite A

DRAWN BY:

CHECKED BY:

DATE

SCALE:

JOB NO.:

SHEET:

©
 C

op
yr

ig
ht

 N
ot

ic
e,

 P
ro

vi
de

nc
e 

En
gi

ne
er

in
g 

20
21

 -
Al

l R
ig

ht
s 

Re
se

rv
ed

. T
he

se
 p

la
ns

 a
re

 th
e

pr
op

er
ty

 o
f P

ro
vi

de
nc

e 
En

gi
ne

er
in

g 
Co

rp
. A

ny
 u

se
 o

r r
ep

ro
du

ct
io

n 
of

 th
es

e 
pl

an
s,

 in
 w

ho
le

 o
r i

n

pa
rt

, w
ith

ou
t p

er
m

is
si

on
 o

f P
ro

vi
de

nc
e 

En
gi

ne
er

in
g 

Co
rp

. i
s 

ill
eg

al
, f

or
bi

dd
en

. F
ur

th
er

 a
ny

pa
rt

y 
th

at
 w

ou
ld

 d
o 

su
ch

 is
 d

oi
ng

 a
t s

ol
e 

ris
k.

AS NOTED

Certificate Number:  3869

S301

230656

EHS

ETP

R
O

O
F
 F

R
A

M
IN

G
 D

E
T

A
IL

S

P
U

C
IL

L
O

 G
Y

M
N

A
S

IU
M

M
IL

L
E

R
S

V
IL

L
E

 U
N

IV
E

R
S

IT
Y

M
R

. 
D

A
N

 G
R

IE
S

T

P
.O

. 
B

O
X

 1
0

0
2

, 
1

5
3

 C
R

E
E

K
 D

R
IV

E

M
IL

L
E

R
S

V
IL

L
E

 U
N

IV
E

R
S

IT
Y

P
A

L
M

E
R

 B
U

IL
D

IN
G

, 
M

IL
L
E

R
V

IL
L
E

, 
P

A
 1

7
5

5
1

R
O

O
F
 T

O
P

 U
N

IT
S

M
IL

L
E

R
S

V
IL

L
E

, 
P

A
 1

7
5

5
1

S301 SCALE:   3/4" = 1'-0"

C TYPICAL ROOF OPENING DETAIL
S301 SCALE:   3/4" = 1'-0"

D

TYPICAL SUPPLEMENTAL SUPPORT FRAMING FOR ROOFTOP

EQUIPMENT DETAIL
S301 SCALE:   3/4" = 1'-0"

A ANGLE X-BRACING

SECTION
S301 SCALE: 3/4" = 1'-0"

2 SECTION
S301 SCALE: 3/4" = 1'-0"

4

S301 SCALE:   3/4" = 1'-0"

B DETAIL

SECTION
S301 SCALE: 1" = 1'-0"

1

S301 SCALE:   3" = 1'-0"

G TYPICAL TOP AND BOTTOM CHORD REINFORCING DETAIL

S301 SCALE:   3/4" = 1'-0"

E TYPICAL ROOF DECK INFILL DETAIL
S301 SCALE:   1/2" = 1'-0"

F TYPICAL ROOF JOIST REINFORCING DETAIL

SECTION
S301 SCALE: 3/4" = 1'-0"

3

R
E

V
IS

IO
N

D
A

T
E

B
Y

1
1

1
/1

7
/2

3
E

H
S

2023-11-17


